WASre:

Online

Parts Catalog - Option Detail

Option

Group Graphic Film Card Date

PH9152

05.06.1 ph955gt T 11-MAY-05

Engines

4B3.9, 6A3.4, 6B5.9, B GAS INTERNATIONAL CM556, B4.5, B4.5 CM2350 B129B, B4.5 CM2350 B146C, B4.5
CM2350 B147B, B4.5 RGT, B4.5S, B5.9 G, B5.9 GAS PLUS CM556, B5.9 LPG, B5.9 LPG PLUS CM556, B6.7 CM2350
B121B, B6.7 CM2350 B135B, B6.7 CM2350 B136C, B6.7 CM2350 B148B, B6.7 G CMOH6.0 B125, B6.7N CM2380
B150B, B6.7S, F3.8 CM2350 F120B, F3.8 CM2350 F128C, F3.8 CM2350 F132B, F3.8 F102, G3.9, G5.9, G5.9

CM558, ISB (CHRYSLER), ISB CM2150, ISB CM2150 E, ISB CM550, ISB CM850, ISB/ISD4.5 CM2150

B119, ISB/ISD4.5 CM2150 SN, ISB/ISD6.7 CM2150 B120, ISB/ISD6.7 CM2150 SN, ISB/ISD6.7 CM2880 B126, ISB3.9
CM2220 B107, ISB4.5 CM2150, ISB5.9G CM2180, ISB6.7 2010 DCX PICKUP, 1ISB6.7 2013 DCX CHASSIS

CAB, I1ISB6.7 CM2150 SQ, ISB6.7 CM2250, ISB6.7 CM2350 B101, ISB6.7 CM2350 B103, ISB6.7 CM2350 B142, ISB6.7
CM2670 B153B, 1SB6.7 G CM2180 B118, ISBE CM2150, ISBE CM800, ISBE2/ISBE3 CM850, ISBE4 CM850, ISD4.5
CM2150, ISD6.7 CM2880 D101, ISF2.8 CM2220, ISF2.8 CM2220 AN, ISF2.8 CM2220 EC, ISF2.8 CM2220

ECF2, ISF2.8 CM2220 F101, ISF2.8 CM2220 F117, ISF2.8 CM2220 F122, ISF2.8 CM2220 F126, ISF2.8 CM2220
F129, ISF2.8 CM2220 IAN, ISF3.8 CM2220, ISF3.8 CM2220 AN, ISF3.8 CM2220 F103, ISF3.8 CM2220 F110, ISF3.8
CM2220 F116, ISF3.8 CM2220 F134B, ISF3.8 CM2220 IAN, ISF3.8 CM2350 F109, ISF4.5 CM2220 F123, ISG11
CM2880 G106, ISG11 CM2880 G108, ISG12 CM2880 G107, ISG12 CM2880 G109, ISG12 G CMOH6.0 G111, QSB3.9
30 CM550, QSB3.9 CM2880 B138, QSB4.5 30 CM550, QSB4.5 CM2150 B108, QSB4.5 CM2250 B131, QSB4.5
CM2250 EC, QSB4.5 CM2350 B106, QSB4.5 CM2350 B122



https://qsservices.cummins.com/qshd/feedback.php?productid=1

SMALL | MEDIUM | LARGE

Pphes5gt

View My Cart

PH9152 Engine Control Module Engine Control Module
3408529 Position Sensor Cam or Crank

1 3408530 Position Sensor Cam or Crank

2 4010643 O-Ring Seal

3 3900589 Hexagon Flange Nut M8 X 1.25

4 3901446 Hexagon Flange Head Cap Screw M8 X 1.25 X 60.

5 3906391 Socket Head Cap Screw M6 X 1.00 X 16.

6 3925402 Hexagon Flange Head Cap Screw M8 X 1.25 X 50



javascript:swap_img('ph955gt','/rtgraphics/english/parts/ph/9/ph955gt_sm.png');
javascript:swap_img('ph955gt','/rtgraphics/english/parts/ph/9/ph955gt_md.png');
javascript:swap_img('ph955gt','/rtgraphics/english/parts/ph/9/ph955gt_lg.png');

7 3949567 Vibration Isolator
8 3949568 Vibration Isolator
3954867 Sensor Adapter
9 3954859 Sensor Adapter
10 3954860 Banjo Connector Screw
11 3954861 Sealing Washer
12 3955039 Electronic Control Cooler
13 3957849 Socket Head Cap Screw M4 X 0.7 X 16.
14 3968537 Stud
15 3968538 Mounting Spacer
16 3975258 Ground Wire
17 3977698 Electronic Control Module Bracket
3971106 Pressure Temperature Sensor Intake Manifold
18 3957439 Pressure Temperature Sensor
19 3957440 O-Ring Seal
4921517 Pressure Sensor Oil.
20 4921745 Pressure Sensor
21 4010519 O-Ring Seal
22 4897224 Temperature Sensor Coolant or Fuel
23 4921776 Electronic Control Module Recon Equiv. 4921776 RX/NX.



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

